
CHEMISTRY

BOOKS - PREMIERS PUBLISHERS

CARBONYL COMPOUNDS AND CARBOXYLIC ACIDS

Evaluate Yourself

1. Write the IUPAC name for the following compound 

(i)  


(ii)  
(CH3)2C=CHCOCH3

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_VjyvKO5NOlOZ


(iii)  


(iv) 

View Text Solution

(CH3)2C(OH)CH2CHO

2. Write all possible structural isomers and position isomers for the

ketone represented by the molecular formula

View Text Solution

C5H10O.

3. What happens when the following alkenes are subjected to reductive

ozonolysis. 

(i) Propone, 

(ii) 1-Butene, 

(iii) Isobutylene.

https://dl.doubtnut.com/l/_VjyvKO5NOlOZ
https://dl.doubtnut.com/l/_ucAGIOMDC0bS
https://dl.doubtnut.com/l/_Oa9bxCa0aaO9


Evalution Textbook Questions Answers Choose The Correct Answer

View Text Solution

4. What happens when n-propy1 benzene is oxidised using 

?

View Text Solution

H + /KMnO4

5. How will you prepare benzoic acid using Grignard reagent.

View Text Solution

https://dl.doubtnut.com/l/_Oa9bxCa0aaO9
https://dl.doubtnut.com/l/_Hz7OsDRrguq0
https://dl.doubtnut.com/l/_Yj2vxU74QXxX


1. The correct structure of the product ' A ' formed in the recation 

 is:

A. 

B. 

https://dl.doubtnut.com/l/_uNzZ2JIbvobY


C. 

D. 

Answer: B

View Text Solution

2. The formation of cyanohydrin from acetone is an example of:

A. Nucleophilic substitution

B. Electrophilic substitution

https://dl.doubtnut.com/l/_uNzZ2JIbvobY
https://dl.doubtnut.com/l/_QJX1tXF77WOW


C. Electrophilic addition

D. Nucleophilic addition

Answer: D

View Text Solution

3. Reaction of acetone with one of the following reagents involves

nucleophilic addition followed by elimination of water. The reagent is:

A. Grignard reagent

B. 

C. hydrazine in presence of slightly acidic solution

D. hydrocyanic acid

Answer: C

View Text Solution

Sn/HCl

https://dl.doubtnut.com/l/_QJX1tXF77WOW
https://dl.doubtnut.com/l/_nYtuP4gA69aQ
https://dl.doubtnut.com/l/_Fr7sxX65t4qA


4. In the following reaction, 

 X product 'X' will not five:

A. Tollen's test

B. Victory meyer test

C. Iodoform test

D. Fehling solution test

Answer: B

View Text Solution

H2SO4

−−−→
HgSO4

5.  is:

A. Formaldelyde

B. diacetoneammonia

C. hexamethy lenetetraamine

D. oxime

CH2 = CH2

( i )O3

−−−−−−−→
( ii )Zn/H2O

X
NH3
−−→ Y ' Y '

https://dl.doubtnut.com/l/_Fr7sxX65t4qA
https://dl.doubtnut.com/l/_eklaoQ3NBbi6


Answer: C

View Text Solution

6. Predict the product Z in the following series of reactions. 

Ethanoic acid 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

PCl5
−−→ X

C6H6

−−−−−−−−−→
Anhydrous AlCl3

Y
( i )CH3MgBr

−−−−−−−−→
( ii )H3O

+
Z.

(CH3)2C(OH)C6H5

CH3CH(OH)C6H5

CH3CH(OH)CH2 − CH3

https://dl.doubtnut.com/l/_eklaoQ3NBbi6
https://dl.doubtnut.com/l/_vRdsCw9IHurv


7. Assertion: 2, 2 - dimethyl propanoic acid does not give HVZ reaction. 

2 - 2, dimethyl propanoic acid does not have  - hydrogen atom

A. if both assertion and reason are true and reason is the correct

explanation of assertion.

B. if both assertion and reason are true but reason is not the correct

explanation of assertion.

C. assertion is true but reason is false.

D. both assertion and reason are false.

Answer: A

View Text Solution

α

8. Which of the following represent th e correct order of acidity in the

given compounds:

https://dl.doubtnut.com/l/_Dhg3VPjPnFyL
https://dl.doubtnut.com/l/_Xt4BcAYuwIXW


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

FCH2COOH > CH3COOH > BrCH2COOH > CICH2COOH

FCH2COOH > CICH2COOH > BrCH2COOH > CH3COOH

CH3COOH > CICH2COOH > FCH2COOH > Br − CH2COOH

CICH2COOH > CH3COOH > BrCH2COOH > ICH2COOH

9. Benzoic acid  is:

A. anilinium chloride

B. o-nitro aniline

( i )NH3

−−−−→
( ii ) Δ

A
NaOBr
−−−→ B

NaNO2 /HCl

−−−−−−−→ C'C'

https://dl.doubtnut.com/l/_Xt4BcAYuwIXW
https://dl.doubtnut.com/l/_vCV4lduCnizA


C. benzene diazonium chloride

D. m-nitro benzoic zcid

Answer: C

View Text Solution

10. Ethanoic acid  2-bromorthanoic acid. 


This reaction is called:

A. Finkelstein reaction

B. Haloform reaction

C. Hell - Volhard - Zelinsky reaction

D. noneof these

Answer: C

View Text Solution

P /Br2

−−−→

https://dl.doubtnut.com/l/_vCV4lduCnizA
https://dl.doubtnut.com/l/_HfcVsx2sVqhi
https://dl.doubtnut.com/l/_qyLOdZMtcGMd


11.  Product ( C ) is:

A. acetylchloride

B. chloro acetic acid

C. - chlorocyano ethanoic acid

D. none of these

Answer: A

View Text Solution

CH3Br
KCN
−−→ (A)

H2O
+

−−−→ (B)
PCl5
−−→ (C)

α

12. Which one of the following reduces Tollens reagent:

A. Formic acid

B. acetic acid

C. benzophenone

D. none of these

https://dl.doubtnut.com/l/_qyLOdZMtcGMd
https://dl.doubtnut.com/l/_MAf4xMVqyK3f


Answer: A

View Text Solution

13.  


 'B' is

A. 

Br
( i )Mg ,ehter
−−−−−−−→

( ii )CO2

A
H3O

+

−−−→ B

https://dl.doubtnut.com/l/_MAf4xMVqyK3f
https://dl.doubtnut.com/l/_wVem750Jt61h


B. 

C. 

D. 

Answer: B

View Text Solution

14. The IUPAC name of 

https://dl.doubtnut.com/l/_wVem750Jt61h
https://dl.doubtnut.com/l/_oqfxXBlWoWJ9


A. but-3-enoicacid

B. but-1-ene-4-oicacid

C. but-2-ene-1-oic acid

D. but-3-ene-1-oicacid

Answer: A

View Text Solution

15. Identify the product formed in the reaction 

https://dl.doubtnut.com/l/_oqfxXBlWoWJ9
https://dl.doubtnut.com/l/_sS5ZYOpykcW1


A. 

B. 

C. 

D. 

Answer: D

View Text Solution

16. In which case chiral carbon is not geneated by reaction with HCN:

https://dl.doubtnut.com/l/_sS5ZYOpykcW1
https://dl.doubtnut.com/l/_e5LYSoVcLGRb


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

17. Assertion: p-N, N-dimethyl aminobenzaldehyde undergoes benzoin

condensation. 

https://dl.doubtnut.com/l/_e5LYSoVcLGRb
https://dl.doubtnut.com/l/_vQPZdWnin5Sn


Reason: The aldehydic (-CHO) group is meta directing.

A. if both assertion and reason are true and reason is the correct

explanation of assertion.

B. if both assertion and reason are true but reason is not the correct

explanation of assertion.

C. assertion is true but reason is false.

D. both assertion and reason are false.

Answer: B

View Text Solution

18. Which one of the following reaction is an example of

disproportionation reaction:

A. Aldol condensation

B. cannizaro reaction

https://dl.doubtnut.com/l/_vQPZdWnin5Sn
https://dl.doubtnut.com/l/_cDNJgItrTflz


C. Benzoin condensation

D. none of these

Answer: B

View Text Solution

19. Which one of the following undergoes reaction with 50% sodium

hydroxide solution to give the corresponding alcohol and acid:

A. Phenylmethanal

B. ethanal

C. ethanol

D. methanol

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_cDNJgItrTflz
https://dl.doubtnut.com/l/_CT33fChiBZBL
https://dl.doubtnut.com/l/_C6tYN73flZAf


20. The reagent used to distinguish betweeen acetabdehyde and

benzaldehyde is:

A. Tollens reagent

B. Fehling 's solution

C. 2,4-dinitrophenyl hydrazine

D. semicarbazide

Answer: B

View Text Solution

21. Phenyl methanal is reacted with concentrated NaOH to give two

products X and Y. X reacts with metallic sodium to liberate hydrogen X

and Y are:

A. sodiumbenzoate and phenol

B. Sodium benzoate and phenyl methanal

https://dl.doubtnut.com/l/_C6tYN73flZAf
https://dl.doubtnut.com/l/_gUobjT7JjxTm


C. phenyl methanol and sodium benzoate

D. none of these

Answer: C

View Text Solution

22. In which of the following raection new carbon - carbon bond is not

formed?

A. Aldol condensation

B. Friedel craft reaction

C. Kolbe's reaction

D. Wolf kishner reduction

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_gUobjT7JjxTm
https://dl.doubtnut.com/l/_X5SNrAGaiyH2
https://dl.doubtnut.com/l/_IA8ywcQcKo3L


23. An alkene ''A" on reaction with  and Zn -  gives propanone and

ethanol in equimolar ratio. Addition of HCl to alkene "A" gives "B" as the

major product. The structure of product "B" is:

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

O3 H2O

Cl − CH2 − CH2 −

CH3

∣

CH
∣

CH2

H3C − CH2 −

CH2Cl

∣

CH − CH3

H3C − CH2 −

CH3

∣

C
∣

Cl

− CH3

H3C − CH −

CH3

∣

CH
∣

Cl

24. Carboxylic acids have higher boiling points than aldehydes, ketones

and even alcohols of comparable molecular mass. It is due to their:

https://dl.doubtnut.com/l/_IA8ywcQcKo3L
https://dl.doubtnut.com/l/_kCkkACGU2kna


A. more extensive association of carboxylic acid via van der Waals

force of attrection

B. formation of carboxylate ion

C. formation of intramolecular H - bonding

D. formation of intermolecular H - bonding

Answer: D

View Text Solution

25. Of the following, which is the product formed when cyclohexanone

undergoes aldol condensation followed by heating?

A. 

B. 

https://dl.doubtnut.com/l/_kCkkACGU2kna
https://dl.doubtnut.com/l/_eJjcOC2oq5SS


Evalution Textbook Questions Answers Answer The Following Questions

C. 

D. 

Answer: A

View Text Solution

1. How is propanoic acid is prepared stating from 

(a) an alcohol, (b) an alkylhalide, ( c ) an alkene

View Text Solution

https://dl.doubtnut.com/l/_eJjcOC2oq5SS
https://dl.doubtnut.com/l/_wQx6nCLYU2qh


2. A Compound (A) with molecular formula  on acid hydrolysis

gives (B) which reacts with thionylchloride to give compound ( C ).

Beczene reacts with compounds ( C ) in presence of anhydros  to

give compound ( C ). Compound ( C ) on reduction with gives (D). Identify

(A), (B), (C) and D. Write the equations.

View Text Solution

C2H3N

AlCl3

3. Identify X and Y. 

View Text Solution

CH3COCH2CH2COOC2H5

CH3MgBr
−−−−−→ X

H3O
+

−−−→ Y

https://dl.doubtnut.com/l/_K8nf90co1wRL
https://dl.doubtnut.com/l/_TMSz6r8j7DnH


4. Identify A, B and C. 

View Text Solution

5. A hydrocarbon A (molecular formula ) on ozonolysis gives 

 only. Compound  on treatment with magnesium

in dry ether gives (D) which on treatment with  followed by

acidification gives ( C ). Identify A, B, C and D.

View Text Solution

C8H10

B(C4H6O2) C(C3H5Br)

CO2

https://dl.doubtnut.com/l/_yJLhc0LwcM0p
https://dl.doubtnut.com/l/_z9dR2hZdHJW0


6. Identify A, B, C and D 

ethanoic acid 

View Text Solution

SOCl2
−−−→ A

Pd/BaSO4

−−−−−−→ B
NaOH
−−−→ C −−→

Δ
D

7. An alkene (A) on ozonolysis gives propanone and aldehyde (B). When

(B) is oxidised ( C ) is obtaoned. ( C ) is treated with  gives (D)

which on hydrolysis gives ( E ). When propanone is treated with HCN

followed by hydrolysis gives ( E ). Identify A, B, C, D and E.

View Text Solution

Br2 /P

8. How will you convert benzaldehyde into the following compounds? 

(I) benzophenone 

(ii) benzoic acid 

(iii)  - hydroxy phenyl acetic acid.

View Text Solution

α

https://dl.doubtnut.com/l/_9O4Oo0bxMAiv
https://dl.doubtnut.com/l/_1zs3MA0FJcbn
https://dl.doubtnut.com/l/_pvRxBO3YSL2Q


9. What is the action of HCN on 

(i) propanone 

2,4-dichhlorobrnzaldehyde 

(iii) ethanal

View Text Solution

10. A carbonyl compound A having molecular formula  forms

crystalline precipitate with sodium bisuphate and gives positive iodoform

test. A does not reduce Fehling solution. Identify A.

View Text Solution

C5H10O

11. Write the structure of the major product of the aldol condensation of

benzaldehyde with acetone.

View Text Solution

https://dl.doubtnut.com/l/_PiR52qBfC5rW
https://dl.doubtnut.com/l/_qROuNjp2MKfS
https://dl.doubtnut.com/l/_BhM6yA2N8Sks
https://dl.doubtnut.com/l/_OkWYHu0XoVYV


12. How are the following conversions effected 

(a) propanal into butanone 

(b) Hex - 3- yne into hexan-3- one 

( c ) phenylmethanal into benzio acid 

(d) phenylmethanal into benzoin

View Text Solution

13. Complete the following reaction. 

 ?

View Text Solution

CH3 − CH2 − CH2 − C
∣ ∣

O

− CH3

HO−CH2 −CH2 −CH2 −OH
−−−−−−−−−−−−−−−−−−→

H

https://dl.doubtnut.com/l/_OkWYHu0XoVYV
https://dl.doubtnut.com/l/_CyYDhG9qoUlq


14. Identify A, B and C propylene glycol acetal. 

View Text Solution

15. Oxidation of ketones involves carbon - carbon bond cleavage. Name

the product (s) is / are formed on oxodising 2,5 - dimethyhexan -3-one

using strong oxidising agent.

View Text Solution

16. (i) Acetic anhydride from acetic acid 

(ii) Ethylacetate from methylacetate 

https://dl.doubtnut.com/l/_3IeedIYhDZiE
https://dl.doubtnut.com/l/_hEKopnmTfMY4
https://dl.doubtnut.com/l/_rNb0s18MkCat


Other Imortent Questions Answers Choose The Correct Answer

(iii) Acetamide from methylcyanide 

(iv) Lactic acid from ethanal 

(v) Acetophenone from ecetylchloride 

(vi) Ethane from sodium acetate 

(vii) Benzoic acid from toluene 

(viii) Malachitegreen from benzaldehyde 

(ix) Cinnamic acid from benzaldehyde 

(x) Acetaldehyde from ethyne

View Text Solution

1. The IUPAC name of the compound is 

https://dl.doubtnut.com/l/_rNb0s18MkCat
https://dl.doubtnut.com/l/_szhu0dlTxiRE


A. Mesityl oxide

B. 4 - methyl pent - 3 - en - 2 - one

C. 4 - methyl pent - 2 - en - 4 - one

D. 2 - methyl pent - 4 - one

Answer: B

View Text Solution

2. Ozonolysis of 2 - methyl but -2-ene followed by treatment with

 gives:

A. ethanal

B. propanone

C. propanal and prop - 2 - one

D. ethanal and propan - 2 - one

Answer: D

Zn/H2O

https://dl.doubtnut.com/l/_szhu0dlTxiRE
https://dl.doubtnut.com/l/_3fJEGOB27iav


View Text Solution

3. Identify the product 'Y' in the following reaction sequence . 

A. pentane

B. cyclobutane

C. cyclopentane

D. cyclopentanone

Answer: C

View Text Solution

4. One mole of a symmeterical alkene on ozonolsis gives two moles of an

aldehyde having molecular mass 44u. The alkene is :

https://dl.doubtnut.com/l/_3fJEGOB27iav
https://dl.doubtnut.com/l/_fidysgetelr4
https://dl.doubtnut.com/l/_lc029cyQ9T7W


A. 2- butene

B. ethene

C. propene

D. 1-butene

Answer: A

View Text Solution

5. Ozonolysis of an organic compound gives formaldehyde as one of the

profucts. This confirms the presence of :

A. a vinyl group

B. an isopropyl group

C. an acetelene triple bond

D. two ethylenic double bonds

Answer: A

https://dl.doubtnut.com/l/_lc029cyQ9T7W
https://dl.doubtnut.com/l/_0zu7LfRnmp46


View Text Solution

6. Identify the compound 'X' in the following reaction : 

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_0zu7LfRnmp46
https://dl.doubtnut.com/l/_HqhRSGsJ9RXM


Answer: A

View Text Solution

7. The order of reactivity of phenyl magnesium bromide (PhMgBr) with

the following compounds. 

I.  is

A. III gt II gt I

B. II gt I gt III

C. I gt III gt II

D. I gt II gtIII

Answer: D

View Text Solution

CH3CHO, II. (CH3)2CO and III. PhCOPh

https://dl.doubtnut.com/l/_HqhRSGsJ9RXM
https://dl.doubtnut.com/l/_6efQkZGaHnyd


8. A carbonyl compound reacts with hydrogen cyanide to form a

cyanohydrin which on hydrolysis forms a recemic mixture of  - hydroxy

acids. The carbonyl compound is :

A. formaldehyde

B. acetaldehyde

C. acetone

D. diethyl ketone

Answer: B

View Text Solution

α

9. In a set of reactions acetic acid yielded the product D 

 


The structure of 'D' would be :

CH3COOH
SOCl2
−−−→ A

Benzene
−−−−−−−−−→
AnhydrousAlCl3

B
HCN
−−→ C

HOH
−−→ D

https://dl.doubtnut.com/l/_didhTzb8PTJq
https://dl.doubtnut.com/l/_R5xji2qUNxMT


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

10.  can be oxidised to 

by :

A. Chormic acid

B. NaOI

(CH3)2C = CHCOCH3 (CH3)2C = CHCOOH

https://dl.doubtnut.com/l/_R5xji2qUNxMT
https://dl.doubtnut.com/l/_ThLsDqVolOyK


C. Cu at 

D. 

Answer: B

View Text Solution

300∘C

KMnO4

11. A compound 'A'  on hydrolysis gives  which reacts

with , forms iodoform but doews not give Fehling's test A is :

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

(C5H10Cl2) C5H10O

NH2OH

CH3 −

Cl

∣

C
∣

Cl

− CH2CH2 − CH3

CH3CH2 −

Cl

∣

C
∣

Cl

− CH2CH3

CH3CH2CH2CH2

Cl

∣

CH − Cl

CH3CH
∣

Cl

− CH
∣

Cl

CH2CH3

https://dl.doubtnut.com/l/_ThLsDqVolOyK
https://dl.doubtnut.com/l/_3v7UyKZ64QY7


12. A cetophenone, when reacted with a base, , yields a stable

compound which has the structure :

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

C2H5ONa

13.  

The structure of 'B' is :

CH3CHO + HCHO
dil .NaOH
−−−−−→

heat
A

HCN
−−−→
H3O

+
B.

https://dl.doubtnut.com/l/_3v7UyKZ64QY7
https://dl.doubtnut.com/l/_0Ys24Vo4Jez2
https://dl.doubtnut.com/l/_rHDBwtaa9L0k


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

CH2 = CHCH
∣

OH

COOH

CH2 = CHCH
∣

CN

COOH

CH3CH2CH
∣

CN

COOH

CH3CH
∣

OH

COOH

14. Self condensation of two moles of ethyl acetate in presence of sodium

ethoxide yields :

A. ethyl propionate

B. ethyl butyrate

C. acetoacetic ester

D. methyl acetoacetate

https://dl.doubtnut.com/l/_rHDBwtaa9L0k
https://dl.doubtnut.com/l/_al5ZAKTkv65p


Answer: C

View Text Solution

15. `m - chlorobenzaldehyde on reactiojn with conc. KOH at room

temperature gives :

A. prtassium -m -chloro benzoic acid and m - hydroxy benzaldehyde.

B. m- hydroxy benzaldehyde and m-chlorobeenzyl alcohol.

C. m-chloro benzxyl alcohol and m - hydroxy benzyl alcohol.

D. potassium - m - chloro benzoate and m- chloro benzyl alcohol.

Answer: D

View Text Solution

16. Consider thwe following compounds : 

I.  II.  
CH3C
∣ ∣

O

CH2C
∣ ∣

O

CH3 CH3C
∣ ∣

O

C
∣ ∣

O

CH3

https://dl.doubtnut.com/l/_al5ZAKTkv65p
https://dl.doubtnut.com/l/_YpXZMNLjdNHH
https://dl.doubtnut.com/l/_ICrH0isGZEM5


III.  IV.  

Which will give iodoform test ?

A. only I

B. both I and II

C. only II

D. all

Answer: C

View Text Solution

CH3C
∣ ∣

O

OH CH3C
∣ ∣

O

Cl

17. Fehling solution will oxidise : 

 IV. HCHO

https://dl.doubtnut.com/l/_ICrH0isGZEM5
https://dl.doubtnut.com/l/_mnGXDlRwmhso


A. All

B. only I and IV

C. only II and IV

D. only III and IV

Answer: D

View Text Solution

18. Phenol  


The product 'Z' is :

A. benzaldehyde

B. benzoic acid

C. benzene

D. toluene

Answer: B

Zn
−−→
dust

X
CH3Cl

−−−−−→
anh .AlCl3

Y
Alk .

−−−−→
KMnO4

Z.

https://dl.doubtnut.com/l/_mnGXDlRwmhso
https://dl.doubtnut.com/l/_fbQ3fBMPZskM


View Text Solution

19. Match entriews of column I with appropriate entries of column II. 

A. (A) - (p), (B) - (s), (C ) - (q), (D) - (r )

B. (A) - (q), (B) - (s), (C ) - (p), (D) - (r )

C. (A) - (r), (B) - (s), (C ) - (p), (D) - (q )

D. (A) - (r), (B) - (p), (C ) - (q), (D) - (s )

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_fbQ3fBMPZskM
https://dl.doubtnut.com/l/_wEh0rblEVUKm


20. Assertion : Fehling solution oxidises acetaldehyde to acetic acid but

not benzaldehyde to benzoic acid. 

Reason : The C - H bond in benzaldehyde is stronger than acetaldehyde.

A. Both assertion and reason are correct and reason is the correct

explanation of assertion.

B. Both assertion and reason are correct but reason is not the correct

explanation of assertion.

C. Assertion is true but reason is wrong.

D. Both assertion and reason are worng.

Answer: A

View Text Solution

21. Assertion : Carboxylic acids contain a carbonyl group but do not give

characteristic reactions of the carbonyl group. 

https://dl.doubtnut.com/l/_lM89cmtLzFKE
https://dl.doubtnut.com/l/_2St7lS8JlFxz


Reason : Due to resonance, the electrophilic nature of the carboxyl cation

is greatly reduced compared to carbohnyl carbon in aldehydes and

ketones.

A. Both assertion and reason are correct and reason is the correct

explanation of assertion.

B. Both assertion and reason are correct but reason is not the correct

explanation of assertion.

C. Assertion is true but reason is wrong.

D. Both assertion and reason are worng.

Answer: A

View Text Solution

22. Among the following acids which has the lowest  value ?

A. 

pKa

CH3COOH

https://dl.doubtnut.com/l/_2St7lS8JlFxz
https://dl.doubtnut.com/l/_m0vCctCXjVtp


B. 

C. 

D. 

Answer: B

View Text Solution

HCOOH

(CH3)2CHCOOH

CH3CH2COOH

23. Which of the following presents the correct oder of the acidity in the

given compounds ?

A. 

B. 

C. 

FCH2COOH > ClCH2COOH > BrCH2COOH > CH3COOH

CH3COOH > BrCH2COOH > ClCH2COOH > FCH2COOH

FCH2COOH > CH3COOH > Br4CH2COOHgrClCH2COOH

https://dl.doubtnut.com/l/_m0vCctCXjVtp
https://dl.doubtnut.com/l/_TFuKegsaEHKv


D. 

Answer: A

View Text Solution

BrCH2COOH > ClCH2COOH > FCH2COOH > CH3COOH

24. The correct acidity order of the following is 

A. III gt IV gt II gt I

B. IV gt III gt I gt II

C. III gt II gt I gt IV

D. II gt III gt IV gt I

https://dl.doubtnut.com/l/_TFuKegsaEHKv
https://dl.doubtnut.com/l/_j0ILlpmE7vrd


Answer: A

View Text Solution

25. Which one the following pairs giveseffervescence with aq.  


I.  II.  

III.  IV. 

A. I and II

B. I and IV

C. II and III

D. I and III

Answer: B

View Text Solution

NaHCO3

CH3COCl CH2COCH3

CH3COOCH3 CH3COOCOCH3

https://dl.doubtnut.com/l/_j0ILlpmE7vrd
https://dl.doubtnut.com/l/_cMPbBEkHwA71


26. Propionic acid with  yields a dibromo product. Its structure

would be :

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

Br2 /P

CH(Br)2 − CH2COOH

CH2(Br)CH2COBr

CH3C(Br)2COOH

CH2(Br)CH(Br)COOH

27. When benzoic acid is treated with , it forms :

A. benzaldehyde

B. benzyl alcohol

C. benzene

D. toluene

LiAlH4

https://dl.doubtnut.com/l/_VkG3wtMavC3g
https://dl.doubtnut.com/l/_YtmTaRIddjE5


Answer: B

View Text Solution

28. Sodium ethoxide reacts with ethanoyl chloride. The compound that is

produced in the above reaction is :

A. 2- butanone

B. ethyl chloride

C. ethyl ethanoate

D. diethyl ether

Answer: C

View Text Solution

29. Consider the following : 

I.  
C6H5COCI

https://dl.doubtnut.com/l/_YtmTaRIddjE5
https://dl.doubtnut.com/l/_TCslLmm87de1
https://dl.doubtnut.com/l/_wnPR4Nwuoxef


 


The correct decreasing oder of their reactivity towards hydrolysis is :

A. II gtIV gt I gt III

B. II gt IV gt III gt I

C. I gt II gt III gt IV

D. IV gt II gt I gt III

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_wnPR4Nwuoxef


Other Imortent Questions Answers Answer The Following Questions

1. Write the IUPAC names of the following : 

 


(iii)  


(iv) 

View Text Solution

CH3CH2C
∣ ∣

O

CH2CHO

CH3CH = CHCHO

https://dl.doubtnut.com/l/_EJANu9owl7Fa


2. Give the structure of the following compounds. 

(i) 4 - Nitropropiophenone 

(ii) 2 - Hydroxycyclopentane carbaldehyde 

(iii) phenyl acetaldehyde

View Text Solution

3. Write the IUPAC names of 

(i) Diacetone alcohol 

(ii) Crotonaldehyde

View Text Solution

4. Write the stucture of 

(i) 3- oxopentanal 

(ii) 1 - phenylpentan - 1 - one

View Text Solution

https://dl.doubtnut.com/l/_ARuLMsYffO2z
https://dl.doubtnut.com/l/_8LoMbnWt1nNM
https://dl.doubtnut.com/l/_srPDsaeAjGfl


5. Name the following compounds according to IUPAC system of

nomenclature. 

(i)  


(ii)  


(iii)  

(iv)  


(v)  

(vi)  


(vii) 

View Text Solution

CH3CH(CH3)CH2CH2CHO

CH3CH2CO(C2H5)CH2CH2Cl

CH3CH = CHCHO

CH3COCH2COCH3

CH3CH(CH3)CH2(CH3)2COCH3

(CH3)3CCH2COOH

OHCC6H4CHO(P )

6. Draw the structures of the following compounds. 

(i) 3- methyl butanal 

(ii) 4- nitro propiophenone 

(iii) p- methyl benzaldehyde 

(iv) 4-methylpent - 3-en -2- one 

(v) 4 - chloropentan - 2- one 

https://dl.doubtnut.com/l/_4lTrmrKGeZAY
https://dl.doubtnut.com/l/_0WBEV49rQgMO


(vi) 3- Bromo-4- phenyl pentanoic acid 

(vii) p, p' dihydroxy benzo phenone 

(viii) Hex - 2 - en - 4 yonic acid

View Text Solution

7. Write IUPAC names of the following aldehydes and ketones. Wherever

possible give also common names.

View Text Solution

8. Give the product of oxonolysis of the following alkenes. 

(i)  


(ii)  


(iii)  


(iv)  


(v)  


(v)  


CH2 − CH2

CH3CH = CH2

CH3CH =

CH3

∣

C − CH3

CH3 − CH = CHCH3

C6H5CH = CH2

C6H5CH = CH2

https://dl.doubtnut.com/l/_0WBEV49rQgMO
https://dl.doubtnut.com/l/_6zIBMLeSurll
https://dl.doubtnut.com/l/_MSTSboB3cbQw


(vi)  

(vii)  


(viii)  


(ix) 

View Text Solution

C6H5 C
∣

CH3

= CHCH3

CH3

CH3

∣

C =

CH3

∣

C − CH3

CH3 −

CH3

∣

C
∣

CH3

− CH = CH2

CH3 −

CH3

∣

C
∣

CH3

− CH = CH −

CH3

∣

C
∣

CH3

− CH3

9. Identify the product of hydration of the following : 

(i) ethyne 

(ii) prop - 1- yne 

(iii) Hex - 1 - yne 

(iv) Diphenyl ecetylene

View Text Solution

https://dl.doubtnut.com/l/_MSTSboB3cbQw
https://dl.doubtnut.com/l/_7MFD8vLoSIIx


10. How are the following compounds formed by distilliation of calcium

salts of their carboxylic acids ? (i) Formaldehyde, (ii) Acetaldehyde, (iii)

Acetone, (iv) Butan -2 - one (v) Cyclopentanone, (vi) Benzaldehyde

View Text Solution

11. Complete the following equations : 

(i)  


(ii)  


(iii) 

View Text Solution

CH3COCI + H2

Pd
−−−→
BaSO4

C6H5COCI + H2

Pd
−−−→
BaSO4

12.  


(i) Identify the product 

CH3C ≡ N
SnCl2
−−→
HCl

https://dl.doubtnut.com/l/_6Ote80zXRq36
https://dl.doubtnut.com/l/_fh6bm0QYHPxu
https://dl.doubtnut.com/l/_ndo8yK4uRwaQ


(ii) Name the reaction. 

(iii) What is the intermediate formed in the reaction.

View Text Solution

13. 

. 


(i) Name the regent i.e., X used for the above reduction. 

(ii) Why other reducing agents like  in the presence of a catalyst are

not used. 

(iii) Write the IUPAC name of the product formed.

View Text Solution

CH3CH = CHCH2CH2CN
( i )X

−−−−→
( ii )H2O

CH3CH = CHCH2CH2CHO

H2

14. How is benzaldehyde prepared from (i) methyl benzene, (ii) benzene,

(iii) benzyl alcohol . Give equations.

View Text Solution

https://dl.doubtnut.com/l/_ndo8yK4uRwaQ
https://dl.doubtnut.com/l/_KadccdPM134b
https://dl.doubtnut.com/l/_oQ3PJtxCJZRy
https://dl.doubtnut.com/l/_x6228JrZS10C


15. Identify the product of the following reactions. Write the complete

equation. 

View Text Solution

16. Give examples for Friedel carafts acetylation reactions.

View Text Solution

https://dl.doubtnut.com/l/_x6228JrZS10C
https://dl.doubtnut.com/l/_LbeSrKpUQZOa


17. The boiling points of aldehydes and ketones are high compared to

hydrocarbons and ethers ofcomparable molecular mass. Explain why?

View Text Solution

18. Explain nucleophilic addition reaction with an example.

View Text Solution

19. Explain why the carbonyl group in aldehydes and ketonesis polar.

View Text Solution

20. What is meant by the follwing terms ? Give and example in each case. 

(i) Cyanohydrin, (ii) Acetal, (iii) Semicarbazone, (iv) Aldol, (v) Hemiacetal,

(vi)Oxime , (vii)Ketal, (viii)Imine, (ix) 2,4 DNP derivative , (x) Schiff's base

https://dl.doubtnut.com/l/_LbeSrKpUQZOa
https://dl.doubtnut.com/l/_oPAenLyb6bdf
https://dl.doubtnut.com/l/_WMrW0V734LHu
https://dl.doubtnut.com/l/_2C6SFsK7tx7p
https://dl.doubtnut.com/l/_CQjdRZMxedc6


View Text Solution

21. How does acetaldehyde react with (i) hydroxyl amine, (ii) hydrazine, (iii)

phenyl hydrazine, (iv) semicarbazide ? Give equations.

View Text Solution

22. Give equations for the reaction between 

(i) acetaldehyde and sodium bisulphite 

(ii) acetone and sodium bisulphite

View Text Solution

23. Write the structure of the products formed when acetone reacts with

(i) hdrazine, (ii) phenyl hydrazine, (iii) semicarbazide.

View Text Solution

https://dl.doubtnut.com/l/_CQjdRZMxedc6
https://dl.doubtnut.com/l/_0QQvtbPT4yng
https://dl.doubtnut.com/l/_RUWBRtvYQ9sT
https://dl.doubtnut.com/l/_Tx710pUQodUl
https://dl.doubtnut.com/l/_ZXUje9NO66nF


24. What is urotrophine? How it is formed ? Write its structure.

View Text Solution

25. Mention the used of urotropine.

View Text Solution

26. What is popoff's rule ? How it is used to predict the oxidation

products of unsymmetrical ketones.

View Text Solution

27. How will you prepare 

(i) diacetone amine from acetone. 

(ii) aldimine from acetaldehyde. 

(iii) hydrobenzamide from benzaldehyde.

View Text Solution

https://dl.doubtnut.com/l/_ZXUje9NO66nF
https://dl.doubtnut.com/l/_S7HrRiKmKan2
https://dl.doubtnut.com/l/_xj4qAxthoJHL
https://dl.doubtnut.com/l/_bm581Ee4EcDN


28. What is a haloform reaction ? Explain with suitable example.

View Text Solution

29. What is iodoforms test ? Explain.

View Text Solution

30. How will you distinguish between by means of a chemical test. 

(i) Propanal and propanone 

(ii) acetaldehyde and benzaldehyde 

(iii) Ethanal and propanal 

All these pairs of compounds can be distinguished b y iodoform test.

View Text Solution

https://dl.doubtnut.com/l/_bm581Ee4EcDN
https://dl.doubtnut.com/l/_wfSmLjV3HJzP
https://dl.doubtnut.com/l/_GS6fkBNCqPGD
https://dl.doubtnut.com/l/_OKmKYOmJYR0d


31. Write a short note an aldol condensation.

View Text Solution

32. Give the mechanism of aldol condensation.

View Text Solution

33. Give the oxidation products obtained when pentan -2 - one is oxidised

by (conc. ).

View Text Solution

HNO3

34. What is crossed aldol condensation ? Give an example.

View Text Solution

https://dl.doubtnut.com/l/_kT89YLdzGt2Z
https://dl.doubtnut.com/l/_RW0X0klw4GA1
https://dl.doubtnut.com/l/_KhlnBPCdr1Yz
https://dl.doubtnut.com/l/_nHoXX4NKrqUZ


35. What happens when benzaldehde reacts with (i) acetone in the

presence of dilute NaOH (ii) acetone in the presence of dilute NaoH.

View Text Solution

36. Explain with examples Claisen- Schmidt condensation.

View Text Solution

37. Write a short note on Cannizaro reaction.

View Text Solution

38. Write the mechanism of Cannizaro reaction.

View Text Solution

https://dl.doubtnut.com/l/_EoDtc7IshFhi
https://dl.doubtnut.com/l/_zntYug6m4iSO
https://dl.doubtnut.com/l/_i6PagxL2SyVj
https://dl.doubtnut.com/l/_hmse9SOQMmUM


39. Give an example for croosed Cannizaro reaction.

View Text Solution

40. Give an example for benzoin condensation.

View Text Solution

41. Complete the following equation. 

(i)  


(ii)  


(iii)  


(iv)  


(v)  


(vi)  


(vii)  


(viii)  


CH3CHO
LiAlH4

−−−→

CH3COCHoverse(NaBH4) →

CH3CH = CHCHO
H2 /Ni

−−−→
Δ

CH3CH = CHCHO
( i )NaBH4 / alcohol
−−−−−−−−−−−→

( ii )H + /H2O

2CH3 −

O

∣ ∣

C − CH3

Mg−Hg
−−−−→

H2O

CH3CHO
Zn−Hg

−−−−→
HCl

CH3COCH3

Zn/Hg

−−−−→
HCl

C6H5COCH3

Zn/Hg

−−−−→
HCl

https://dl.doubtnut.com/l/_qttWXZn0aHp7
https://dl.doubtnut.com/l/_1TwHOEOE2ZKd
https://dl.doubtnut.com/l/_ZOQIYFxs14LJ


(ix)  


(x)  


(xi)  


(xii) 

View Text Solution

CH3COCH3

NH2 −NH2

−−−−−−→
KOH, glycol

C6H5COCH3

NH2 −NH2
−−−−−−→
KOH, glycol

CH3CHO + HI
RedP , 413K
−−−−−−→

CH3COCH3 + HI
Redp
−−→
413K

42. How will you convert ethanal into following compounds ? (i) Butane 1,

3 diol (ii) But - 2 - enal (iii) But - 2 - enoic acid.

View Text Solution

43. Give simple chemical tests to distinguish between the following pairs

of compounds. 

(i) Acetophenone and benzophenone (ii) Phenol and benzoic acid (iii)

Pentan - 2 - one and pentan - 3- one (iv) Benzaldehyde and acetophenone

View Text Solution

https://dl.doubtnut.com/l/_ZOQIYFxs14LJ
https://dl.doubtnut.com/l/_6LGlzmDF7YFF
https://dl.doubtnut.com/l/_lDjKXDXdJ7dG
https://dl.doubtnut.com/l/_6tBblSyM15hv


44. What happens when benzaldehyde is treate with (i)  in the

presence of  (ii) a miture of conc.  and conc.  (iii)

conc.  (iv) chlorine (v) chlorine in the presence of  (vi)

methyl bromide in the presence of nahydrous .

View Text Solution

Br2

FeBr3 H2SO4 HNO3

H2SO4 FeCl3

AlCl3

45. Mention the uses of (i) formaldehyde (ii) urotropine (iii) acetaldehyde

(iv) acetone 

(v) benzaldehyde (vi) cetophenone and benzophenone.

View Text Solution

46. Give equations for the following reactions. 

(i) Nitration of ecetophenone 

(ii) Bromination of benzohenone 

(iii) Friedel - carfts alkylation of benzo phenone

View Text Solution

https://dl.doubtnut.com/l/_6tBblSyM15hv
https://dl.doubtnut.com/l/_KCGFICPrkslo
https://dl.doubtnut.com/l/_1r4GHs9bIbUB


47. Explain the structure of carboxylic acid group.

View Text Solution

48. How is acetic acid prepared from (i) ethanol (ii) methyl cyanide (iii)

ethyl acetate (iv) methyl magnesium bromide (v) acetyl chloride (vi) acetic

anhydride ? Give equation.

View Text Solution

49. Identify X and Y 

(i)  
C6H5MgBr + CO2 → X
H2O
−−→ Y

https://dl.doubtnut.com/l/_1r4GHs9bIbUB
https://dl.doubtnut.com/l/_dVGJEMCZ1JnJ
https://dl.doubtnut.com/l/_DhStC4TK1lKy
https://dl.doubtnut.com/l/_s4jJupMXOYZJ


(ii)  


View Text Solution

C6H5COOCOC6H5 + H2O → X
CH3COCl
−−−−−→ Y

50. Explain why ? 

(i) Carboxylic acids have higher boiling point than aldehydes, ketones, or

even alcohols of comparable molecular mass. 

(ii) Lower aliphatic / carboxylic acid are miscible with water while higher

carboxylic acids are immiscible with water.

View Text Solution

51. How will you convert 

(i) Ethyl benzene to benzoic acid 

https://dl.doubtnut.com/l/_s4jJupMXOYZJ
https://dl.doubtnut.com/l/_qriBQVx117xR
https://dl.doubtnut.com/l/_JdSmVhO2TqjK


(ii) Isopropyl benzene to benzoic acid 

(iii) p - nitro toluene to p-nitrobenzoic acid 

(iv)o-xylene to phthalic acid 

(v) But -2 -ene to ethanoic acid 

(vi) Benzonitrile to benzoic acid 

(vii) Ethyl magnesium iodide to propanoic acid 

(viii) Ethyl benzoate to benzoic acid 

(ix) Benzamide to benzoic acid 

(x) Propane - 2 - one to butanoic acid.

View Text Solution

52. Which of the following compounds will undergo aldol condensation ?

Which the Cannizaro reaction, and which neither ? Write the structure of

the expected products of aldol condensation and Cannizaro reaction. 

(i) Methanal 

(ii) 2- methylpentanal 

(iii) Benzaldehyde 

(iv) Benzophenone 

https://dl.doubtnut.com/l/_JdSmVhO2TqjK
https://dl.doubtnut.com/l/_0GGg90hNOP3Z


(v) Cyclohexanone 

(vi) 1 - phenyl propanone 

(vii) Phenyl acetaldehyde 

(viii) Butan - 1 - ol 

(ix) 2, 2-dimethyl butanal

View Text Solution

53. Give equations for reactions of acetic acid with the following reagents.

(i) Na (ii) NaOH (iii)  (iv)  (v)  (vi)  (vii) 

 (viii) Red P and HI (ix) Sodalime (x)  followed by heating (xi) 

//Red P.

View Text Solution

Na2CO3 PCl5 SOCl2 C2H5OH

LiAlH4 NH3

Cl2

54. Show how each of the following could be converted to benzoic acid : 

(i) Ethyl benzene, 

(ii) acetophenone, 

https://dl.doubtnut.com/l/_0GGg90hNOP3Z
https://dl.doubtnut.com/l/_gaugKo3eWCAV
https://dl.doubtnut.com/l/_gdE8R4bD8Qe3


(iii) benzophenone, 

(iv) phenyl ethene.

View Text Solution

55. What is esterification ? Give an example.

View Text Solution

56. Give a brief accounts of decarboxylation reaction.

View Text Solution

57. Suggest a siutable reagent to bring about the following conversions.

Give equations. 

(i) Acetic acid to acetyl chloride 

(ii) Benzoic acid to ethyl benzoate 

(iii) m - nitro benzoic acid to m - nitro methyl benzoate 

https://dl.doubtnut.com/l/_gdE8R4bD8Qe3
https://dl.doubtnut.com/l/_ntKswPpYtoha
https://dl.doubtnut.com/l/_7rfZa7XLJqIM
https://dl.doubtnut.com/l/_bbP8a2ZH5eM9


(iv) Ethanoic acid to ethanol 

(v) Acetic acid to ethane

View Text Solution

58. Give the products of the following : 

(i)  


(ii)  


 


C6H5COONa
NaOH +CuO
−−−−−−−→

Δ

CH3CH2CH
∣

CH3

COOHunderse((ii)CaO, Δ)
( i )NaOH

−−−−−→

https://dl.doubtnut.com/l/_bbP8a2ZH5eM9
https://dl.doubtnut.com/l/_PsMIwpsnNMdj


(iv)  


View Text Solution

CH3CH = CHCH2COONa
( i )NaOH

−−−−−−−→
( ii )CaO , Δ

59. What is HVZ reaction? Give an example.

View Text Solution

60. Explain why the 'COOH' group in benzoic acid in meta directing.

View Text Solution

61. How are the following compounds prepared from benzoic acid ? 

(i) m - bromo benzoic acid (ii) m - nitro benzoic acid (iii) m - sulpho

benzoic acid.

https://dl.doubtnut.com/l/_PsMIwpsnNMdj
https://dl.doubtnut.com/l/_hWJb0CWYR99b
https://dl.doubtnut.com/l/_nYM2ZgmzhyfR
https://dl.doubtnut.com/l/_d5tjOpNPfg3Z


View Text Solution

62. Formic acid is a reducing agent. Substantriate this statement with

examples.

View Text Solution

63. Give the tests for carboxylic acid group in an organic compound.

View Text Solution

64. Give a brief accout of acidity of carboxylic acids.

View Text Solution

65. Briefly discuss the effect substituents on the acidity of carboxylic

acids.

https://dl.doubtnut.com/l/_d5tjOpNPfg3Z
https://dl.doubtnut.com/l/_HQUCJgAvbO8A
https://dl.doubtnut.com/l/_z6vKlRPxY1Bw
https://dl.doubtnut.com/l/_6ruw9rIchsIL
https://dl.doubtnut.com/l/_2xdeTvnngGu8


View Text Solution

66. Fluorine is more electroegative than chlorine even their p - fluoro

benzoic acid in weaker than p-chloro benzoic acid. Explain.

View Text Solution

67. Explian why p- nitrobenzoic acid has a higher  value than benzoic

acid.

View Text Solution

Ka

68. Give the IUPAC names of the following compounds. (i)

 
PhCH2CH2COOH

https://dl.doubtnut.com/l/_2xdeTvnngGu8
https://dl.doubtnut.com/l/_Pa7Ajof2T75a
https://dl.doubtnut.com/l/_GN7mVHybvxbM
https://dl.doubtnut.com/l/_97KXd6wvODrB


(ii)  


View Text Solution

(CH3)2C = CHCOOH

69. Explain the mechanism ffor the reaction.

View Text Solution

https://dl.doubtnut.com/l/_97KXd6wvODrB
https://dl.doubtnut.com/l/_35onzCZk1dIf


70. Give the uses of (i) formic acid (ii) acetic acid (iii) benzoic acid (iv)

acetyl chloride (v) acetic anhydride (vi)ethyl acetate.

View Text Solution

71. A compound with moelcular formula,  on acetylation with

acetic anhydride gives a compound with molecular weight 190. Find out

the number of hydroxyl groups present in the compound.

View Text Solution

C4H10C3

72. Explain (i) Perkins'reaction (ii) Knoevenagal reaction.

View Text Solution

73. Give names of reagent which bring about the following conversions. 

(i) Hexan - 1 -ol to hexanal 

https://dl.doubtnut.com/l/_kt2Wbfa35qLB
https://dl.doubtnut.com/l/_wmQToC3IC5W2
https://dl.doubtnut.com/l/_GJUrls6tbnev
https://dl.doubtnut.com/l/_IUtELwOnaqNF


(ii) Cyclohexanal to cyclohexanone 

(iii) p - flurotoluene to p- flurobenzaldehyde, 

(iv) Ethanenitrile to ethanal 

(v) allyl alcohol to propenal 

(vi) But - 2- ene to ethanal

View Text Solution

74. Bring out the following conversions. 

(i) Benzyl alcohol to phenyl ethanoic acid. 

(ii) 3- nitrobromo benzene to 3- nitrobromo benzoic acid 

(iii) Methyl acetophenone to benzene 1, 4, dicarboxylic acid 

(iv) cyclohexene to hexane 1, 6 dicarboxylic acid.

View Text Solution

https://dl.doubtnut.com/l/_IUtELwOnaqNF
https://dl.doubtnut.com/l/_dH5sSVebNgoJ


75. Identigy A - E in the following reactions : 

View Text Solution

76. Write a short note on electrophilic substitution reaction of

benzaldehyde.

View Text Solution

77. Which acid of each pair shown here would you expect to be stronger ?

(i)  


(ii)  


CH3COOH and FCH2COOH

FCH2COOH and CH2COOH

https://dl.doubtnut.com/l/_f2pDYeavCTKd
https://dl.doubtnut.com/l/_cKnXnuVzjoYY
https://dl.doubtnut.com/l/_PWMsLn4hWOC4


(iii)  

(iv) 

View Text Solution

FCH2CH2CH2COOH and CH3CH
∣

F

− CH2COOH

78. Identify A to E in the following reactions : 

View Text Solution

https://dl.doubtnut.com/l/_PWMsLn4hWOC4
https://dl.doubtnut.com/l/_FCg2s2c6h9lC


79. How will you bring about the following conversions in not more than

two step? 

(i) Propanone to propene (ii) Benzoic acid to benzaldehyde (iii) Ethanol to

3- hydroxy butanal (iv) Benzene to m - nitrobenzene (v) Benzaldehyde to

benzophenone (vi) bromo benzene to 1 - pheyl ethanol (vii) Benzaldehyde

to 3 phenylpropan - 1 - ol (viii) Benzaldehyde to -hydroxy phenyl acetic

acid (ix)Benzoic acid to m - nitrobenzyl alcohol.

View Text Solution

α

80. What is trans esterification ? Give an example.

View Text Solution

81. Give an example for Claisen condensation.

View Text Solution

https://dl.doubtnut.com/l/_gYrwezfQtzTG
https://dl.doubtnut.com/l/_CabAydeOHEGC
https://dl.doubtnut.com/l/_bkwqa6rtRULd
https://dl.doubtnut.com/l/_GCvYSDYU73Hv


82. How are the following compounds prepared ? 

(i) acetyl chloride and ethyl chloride from ehtyl acetate 

(ii) acetamide from acetyl chloride 

(iii) Acetamide from acetic anhydride.

View Text Solution

83. Complete the following equation: 

(i)  


(ii)  


(iii) 

View Text Solution

CH3COCl + CH3NH2 →

CH3COCl + (CH3)2NH →

(CH3CO)2O + PCl5 →

84. How are the following compounds prepared from cetamide ? 

(i) acetic acid (ii) sodium acetate (iii) methyl cyanide (iv) methyl amine (v)

ethyl amine

View Text Solution

https://dl.doubtnut.com/l/_GCvYSDYU73Hv
https://dl.doubtnut.com/l/_dZjtvHJooWEQ
https://dl.doubtnut.com/l/_LdKYwPvR9szk


85. Write the structure and IUPAC naems of the following acid dervative. 

(i) acetyl chloride (ii) propionyl chloride (iii) Benzoyl chloride (iv) acetic

anhydride (v) propionic anhydride (vi) benzoic anhydride (vii) methyl

acetate (viii) Ethyl acetate (ix) phenyl acetate (x) acetamide

(xi)propionamide (xii) Benazamide.

View Text Solution

86. Briefly explain amphoteric nature of acid amide.

View Text Solution

87. An unknown aldehyde (A) on reaction with alkali gives a -hydroxy

aldehyde which loses water to form an unsaturated aldehyde, 2-butanal.

Another aldehyde (B) undergoes disproportionation reaction in the

presence of conc. Alkali to form products (C ) and (D). (C ) is an aryl

alcohol with formula . Identify (A) and (B). 


β

C7H8O

https://dl.doubtnut.com/l/_LdKYwPvR9szk
https://dl.doubtnut.com/l/_1Kq5WBvjCycs
https://dl.doubtnut.com/l/_TOb8FCTXktRs
https://dl.doubtnut.com/l/_Z1IOIl0Xh1Na


(ii) Write the sequenceof chemical reaction involved. 

(iii) Name the product, when (B) reacts with zinc amalgam and

hydrochloric acid.

View Text Solution

88. A compound 'X'  on oxidation gives 'Y' . 'X'

undergoes haloform reaction. On treatment with HCN, (X) forms (Z) which

on hydrolysis gives 2- hydroxy propanoic acid. 

(i) Write down the structure of 'X' and 'Z'. 

(ii) Name the product when 'X' is treated with dilute NaOH. 

(iii) Write down the equation for the reaction involved.

View Text Solution

(C2H4O) (C2H4O2)

https://dl.doubtnut.com/l/_Z1IOIl0Xh1Na
https://dl.doubtnut.com/l/_1ZHZsgabDvEF

